EDUGATE Up to Date Solved Papers 30 Applied Mathematics-I (MATH-123) Paper A

ED0	GATE Up to Date Solved Papers 3	J Applied	Mathemati	ICS-I (IVI)	41H-	123,	Рар	er A
DAE / IIA - 2018		8. π-rad is equal to:						
MATH-123 APPLIED MATHEMATICS-I		statu.	[a] 360°	CONTRACTOR CONTRACTOR] 27	0°		
PAPER 'A' PART - A(OBJECTIVE)			[c] 180°	[d] 90	0		
Time: 30 Minutes Marks: 15		9.	$\cos\left(rac{\pi}{2}+0 ight)$ is equal to:					
Q.1: Encircle the correct answer.			[a] cosθ] sin			
1.	To make $49x^2 + 5x$ a complete		[c] -cosθ		0.52			
	square we must add:	10.	$\sin (A + B) - \sin (A - B)$ is equal to:				to	
	[a] $\left(rac{5}{14} ight)^2$ [b] $\left(rac{14}{5} ight)^2$	101	[a] 2sin A d	cos B [b)] 2cc	os A	cos E	
	$(5)^2$ $(7)^2$	1000	[c] -2sin A					
	[c] $\left(\frac{5}{7}\right)^2$ [d] $\left(\frac{7}{5}\right)^2$	11.	lf in a tria A = 60º, ti	hen a is	:			
2.	If ± 3 are the roots of the		[a] 2 [b	=			- CONT. 1	
	equation, then the equation is:	12.	In a right t					is
	[a] $x^2 - 3 = 0$ [b] $x^2 - 9 = 0$	earn n	45°, then :				÷	
	[c] $x^2 + 3 = 0$ [d] $x^2 + 9 = 0$		[a] 45º	75] 50⁰			
3.	Product of roots of		NT. 5%	[d	0.55			
	$ax^2 + bx - c = 0isi$	13.	If θ in the angle between the					
			vector a	and $\overline{\mathbf{b}}$ t	hen	cos	θ is:	
	[a] $\frac{c}{a}$ [b] $-\frac{c}{a}$ [c] $\frac{a}{b}$ [d] $-\frac{a}{b}$		1 1 1 1			r 1. 1	a a	. b
4.	In the expansion of $(a+b)^n$ the		[a] a.b			מן	$\left \frac{a}{\frac{1}{a}} \right $	$ \vec{\mathbf{b}} $
4.) t c l		+		1.641	1~1
	general term is:		$[c] \frac{\vec{a} \cdot \vec{b}}{ \vec{a} }$	[d	$\frac{\vec{a}}{ \vec{b} }$			
	$[a] \binom{n}{r} a^r b^r \qquad [b] \binom{n}{r} a^{n-r} b^r$		1 1			Т. Б. С.		
	\mathbf{r}	14.	If $\vec{a} \times \vec{b} = 0$	0 then	a ar	nd D	is:	
	(n) , (n)		[a] Non-pa	arallel [b] Par	alle		
	$[c] \binom{n}{r-1} a^{n-r+1} b^{r-1} [d] \binom{n}{r} a^{n-r-1} b^{r-1}$	BA	[c] Perpen	dicular[d] No	one	of th	ese
5.	In the expansion of $(a+b)^n$ the	15. If E(cos0 + jsin0) then the						
J i		exponential form is:						
	sum of exponents of a and b in any term is:	[a] Ee ^{iθ} [b] Ee ^{iθ}						
	[a] n [b] n-1		[c] e ^{jθ}			[d]	e⁻ ^{jθ}	
	[c] n +1 [d] None of these		Ar	nswer Ke	≥y			
	- The state of the second se	1	a 2 b	3 a	4	b	5	a
6.	The middle term of $\left(\frac{x}{y} - \frac{y}{x}\right)^4$ is:) 7 a	8 c	9	d	10	d
	$(\mathbf{y} \mathbf{x})$		12 a	13 b	14	b	15	a
	[a] 6 [b] 8 [c] $rac{4 \mathrm{x}^2}{\mathrm{y}^2}$ [d] $rac{4 \mathrm{x}}{\mathrm{y}}$	100000	*****	100000 - 1655 10		38 21	2352365 Al D	
7.	The degree measure of one radian							
	is approximately equal to:							
	[a] 37.3° [b] 57.2°							
	[c] 57.1º [d] 57.0º							
	Available online @ ht	tns.//m	athhaha	com				
		IN MARKED AND A DESCRIPTION OF A DESCRIP						

DAE/IIA - 2018 x = 30 + 1x = -30 + 1x = -29MATH-123 APPLIED MATHEMATICS-I x = 31 $S.S. = \{-29, 30\}$ PAPER 'A' PART - B(SUBJECTIVE) Time:2:30Hrs Marks:60 Discuss the nature of the roots 3. Section - I of the equation $9x^2 + 6x + 1 = 0$ Write short answers to any Q.1. Here: a = 9, b = 6, c = 1Sol. Eighteen (18) questions. Disc. $= b^2 - 4ac$ 1. Solve the guadratic equation $=(6)^{2}-4(9)(1)=36-36=0$ $3x^2 + 5x = 2$ by factorization. ... The roots are Equal and Real. $3x^{2} + 5x = 2$ Sol. Find the value of k if the sum of 4. $3x^2 + 5x - 2 = 0$ the roots of the equation $(2k - 1)x^2$ +(4k-1)x+(k+3)=0 is 5/2. $3x^2 + 6x - x - 2 = 0$ asy way To Lea Sol. Here: a = 2k - 1, b = 4k - 1, c = k + 33x(x+2)-1(x+2)=0sum of roots = $\frac{5}{2}$ (x+2)(3x-1)=0As. Either OR $-\frac{b}{a}=\frac{5}{2}$ 3x - 1 = 0x + 2 = 0 $3x = 1 \Rightarrow x = \frac{1}{2}$ $\mathbf{x} = -2$ $\frac{-(4k-1)}{2k-1} = \frac{5}{2}$ $S.S. = \{-2, \frac{1}{2}\}$ -2(4k-1) = 5(2k-1)-8k + 2 = 10 k - 5-8k - 10k = -5 - 2Solve the equation $x^2 - 2x - 899 = 0$ 2. $-18k = -7 \implies k = \frac{-7}{-18} \implies k = \frac{7}{18}$ by completing the square. $x^2 - 2x - 889 = 0$ Sol. 5. For what value of k, the sum of $x^2 - 2x = 889$ reats of equation $3x^2 + kx + 5 = 0$ Adding the square of one half of the may be equal to the product of roots. coefficient of xi.e., $(1)^2$ on both sides Sol. Here: a = 3, b = k, c = 5 $x^{2} - 2x + (1)^{2} = 889 + (1)^{2}$ Sum of roots = Product of roots As. $(x-1)^2 = 889 + 1$ $\frac{-b}{a} = \frac{c}{a}$ $(x-1)^2 = 900$ $\frac{-k}{2} = \frac{5}{2}$ $\sqrt{(x-1)^2} = \pm \sqrt{900}$ $-k = 5 \Rightarrow k = -5$ $x - 1 = \pm 30$ $x = \pm 30 + 1$ Either OR

EDUGATE Up to Date Solved Papers 31 Applied Mathematics-I (MATH-123) Paper A

EDUGATE Up to Date Solved Papers 32 Applied Mathematics-I (MATH-123) Paper A

6. Expand $\left(\frac{x}{y} + \frac{y}{x}\right)^4$ by Binomial	$T_{5+1} = {\binom{10}{5}} (x)^{10-5} (3y)^5$
theorem.	$T_6 = (252)(x^5)(243y^5)$
Sol. $\left(\frac{x}{y} + \frac{y}{x}\right)^4$	$T_6 = 61236x^5y^5$
$= \binom{4}{0} \left(\frac{x}{y}\right)^4 \left(\frac{y}{x}\right)^0 + \binom{4}{1} \left(\frac{x}{y}\right)^3 \left(\frac{y}{x}\right)^1 + \binom{4}{2} \left(\frac{x}{y}\right)^2 \left(\frac{y}{x}\right)^2$	9. Expand $\frac{1}{\sqrt{1+x}}$ to three terms.
$+ \binom{4}{3} \left(\frac{x}{y}\right)^{1} \left(\frac{y}{x}\right)^{3} + \binom{4}{4} \left(\frac{x}{y}\right)^{0} \left(\frac{y}{x}\right)^{4}$	Sol. $\frac{1}{\sqrt{1+x}} = (1+x)^{-\frac{1}{2}}$
$= \left(1\right) \left(\frac{x^4}{y^4}\right) \left(1\right) + 4 \left(\frac{x^3}{y^3}\right) \left(\frac{y}{x}\right) + 6 \left(\frac{x^2}{y^2}\right) \left(\frac{y^2}{x^2}\right)$	$=1+\left(-\frac{1}{2}\right)(x)+\frac{\left(-\frac{1}{2}\right)\left(-\frac{1}{2}-1\right)}{2!}(x)^{2}+$
$+4\left(\frac{x}{y}\right)\left(\frac{y^3}{x^3}\right)+1(1)\left(\frac{y^4}{x^4}\right)$	$= 1 - \frac{x}{2} + \frac{1}{2} \left(-\frac{1}{2} \right) \left(-\frac{3}{2} \right) x^{2} + \dots$
$= \frac{x^4}{y^4} + 4\frac{x^2}{y^2} + 6 + 4\frac{y^2}{x^2} + \frac{y^4}{x^4}$	$= \underbrace{1 - \frac{\pi}{2} + \frac{\pi}{8}x^2 + \dots}_{=}$
7. Compute $(1.02)^{10}$ by Binomial	10. Using the Binomial series, calculate $\sqrt{80}$ to the nearest
theorem up to two decimal places.	hundredth.
Sol. $(1.02)^{10} = (1+0.02)^{10}$	Sol. $\sqrt{80} = \sqrt{81-1} = \sqrt{81\left(1-\frac{1}{81}\right)}$
$ = {\binom{10}{0}} (1)^{10} (0.02)^{0} + {\binom{10}{1}} (1)^{9} (0.02)^{1} $	$=9\left(1-\frac{1}{81}\right)^{\frac{1}{2}}=9\left[1-\left(\frac{1}{2}\right)\left(\frac{1}{81}\right)+\dots\right]$
=(1)(1)(1)+10(1)(0.02)	$=9\left[1 - \frac{1}{162} + \dots\right] = 9\left[1 - 0.0062 + \dots\right]$
$+45(1)(0.0004) + \dots$ = 1 + 0.2 + 0.018 +	$=9[0.9938] = \underline{8.94}$
=1.2180 = 1.22	11. Convert $\frac{2\pi}{3}$ radius into degree
8. Find the 6 th term in the expansion of	measure.
$(\mathbf{x}+3\mathbf{y})^{10}$	Sol. $\frac{2\pi}{3}$ rad $=\frac{2\pi}{3}\times\frac{180}{\pi}$ rad $=\boxed{120^\circ}$
Sol. Here: $a = x, b = 3y, n = 10 \& r = 5$	12. Prove that:
$\mathbf{T}_{\mathbf{r+1}} = \binom{\mathbf{n}}{\mathbf{r}} \mathbf{a}^{\mathbf{n}-\mathbf{r}} \mathbf{b}^{\mathbf{r}}$	$2\sin 45^{\circ} + \frac{1}{2}\csc 45^{\circ} = \frac{3}{\sqrt{2}}$

EDUGATE Up to Date Solved Papers 33 Applied Mathematics-I (MATH-123) Paper A

Sol. L.H.S = $2\sin 45^{\circ} + \frac{1}{2}\cos ec45^{\circ}$ = $2\left(\frac{\sqrt{2}}{2}\right) + \frac{1}{2}\left(\frac{2}{\sqrt{2}}\right) = \sqrt{2} + \frac{1}{\sqrt{2}}$ = $\frac{(\sqrt{2})^2 + 1}{\sqrt{2}} = \frac{2+1}{\sqrt{2}}$ = $\frac{3}{\sqrt{2}} = R.H.S.$ Proved.

13. Prove that:

$\cos 30^\circ \cos 60^\circ - \sin 30^\circ \sin 60^\circ = 0$

Sol. L.H.S. = $\cos 30^{\circ} \cos 60^{\circ} - \sin 30^{\circ} \sin 60^{\circ}$ Let

 $= \left(\frac{\sqrt{3}}{2}\right) \left(\frac{1}{2}\right) - \left(\frac{1}{2}\right) \left(\frac{\sqrt{3}}{2}\right)$ $=\frac{\sqrt{3}}{4}-\frac{\sqrt{3}}{4}$ = 0 = R.H.S.Proved. 14. Prove that: $\frac{1}{1+\sin\theta} + \frac{1}{1-\sin\theta} = 2\sec^2\theta$ L.H.S. = $\frac{1}{1 + \sin \theta} + \frac{1}{1 - \sin \theta}$ Sol. $=\frac{1(1-\sin\theta)+1(1+\sin\theta)}{(1+\sin\theta)(1-\sin\theta)}$ $=\frac{1-\sin\theta+1+\sin\theta}{(1)^2-(\sin\theta)^2}$ $=\frac{2}{1-\sin^2\theta}=\frac{2}{\cos^2\theta}$ $= 2 \sec^2 \theta = R.H.S.$ Proved. Prove that: $\cos\left(\frac{\pi}{2} - \beta\right) = \sin\beta$ 15.

Sol. L.H.S. =
$$\cos\left(\frac{\pi}{2} - \beta\right)$$

= $\cos\left(90^{\circ} - \beta\right) \because \left\{\frac{\pi}{2} \times \frac{180^{\circ}}{\pi} = 90^{\circ}\right\}$
= $\cos 90^{\circ} \cos\beta + \sin 90^{\circ} \sin\beta$
= $(0)\cos\beta + (1)\sin\beta \because \left\{\frac{\nu\sin\alpha}{\cos 90^{\circ}-0 \& \sin 90^{\circ}-1}\right\}$
= $0 + \sin\beta = \sin\beta = \text{R.H.S.}$ **Proved.**
16. Show that:
 $\cos(\alpha + \beta) - \cos(\alpha - \beta) = -2\sin\alpha\sin\beta$
Sol. L.H.S. = $\cos(\alpha + \beta) - \cos(\alpha - \beta)$
= $\left[\cos\alpha\cos\beta - \sin\alpha\sin\beta\right] - \left[\cos\alpha\cos\beta + \sin\alpha\sin\beta\right]$
= $\cos\alpha\cos\beta - \sin\alpha\sin\beta - \cos\alpha\cos\beta - \sin\alpha\sin\beta$
= $-2\sin\alpha\sin\beta = \text{R.H.S.}$ **Proved.**
17. Prove that: $\sin\alpha = 2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2}$
Sol. L.H.S. = $\sin\alpha = \sin\left(\frac{2\alpha}{2}\right)$
= $\sin\left(\frac{\alpha + \alpha}{2}\right) = \sin\left(\frac{\alpha}{2} + \frac{\alpha}{2}\right)$
= $\sin\left(\frac{\alpha + \alpha}{2}\right) = \sin\left(\frac{\alpha}{2} + \frac{\alpha}{2}\right)$
= $\sin\left(\frac{\alpha}{2}\cos\frac{\alpha}{2} + \cos\frac{\alpha}{2}\sin\frac{\alpha}{2}\right)$
= $2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2} + \cos\frac{\alpha}{2}\sin\frac{\alpha}{2}$
= $2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2} = \text{R.H.S.}$ **Proved.**
18. Find $\cos\theta$ if $\sin\theta = \frac{7}{25}$ and angle
 θ is an acute angle.
Sol. $\sin\theta = \frac{7}{25}$
 $\cos^{2}\theta = 1 - \sin^{2}\theta = 1 - \left(\frac{7}{25}\right)^{2} = 1 - \frac{49}{625} = \frac{625 - 49}{625} = \frac{576}{625}$
 $\cos\theta = \pm \frac{24}{25}$
As θ is acute angle, so $\cos\theta = \frac{24}{25}$

EDUGATE Up to Date Solved Papers 34 Applied Mathematics-I (MATH-123) Paper A

19. Define the law of Sine. Sol. In any triangle ABC, with usual notations. b a С $\sin\beta$ $\sin \alpha$ $\sin \gamma$ 20. In any triangle ABC, if a = 20, c = 32 and $\gamma = 70^{\circ}$ find angle ∞ . By using law of sines: Sol. $\frac{a}{\sin\alpha} = \frac{b}{\sin\beta} = \frac{c}{\sin\gamma}$ we take: $\frac{a}{\sin \alpha} = \frac{c}{\sin \gamma}$ $\frac{\sin \alpha}{a} = \frac{\sin \gamma}{c}$ asy way $\sin \alpha = \frac{a \sin \gamma}{1}$ $\sin\alpha = \frac{20\sin 70^\circ}{32}$ $\sin \alpha = 0.5873$ $\alpha = \sin^{-1}(0.5873)$ $\alpha = 35^{\circ} 57' 58''$ 21. The shadow of Qutab Minar is 81m long when the measure of the angle of elevation of the sun is 41°31'. Find the height of the

- Sol. From figure, we know that: $\tan 41^{\circ}31' = \frac{h}{81}$ $81\tan 41^{\circ}31' = h$ h = 71.70m
- In any triangle ABC if b = 25, c = 37, A = 65^o, Find a.
- Sol. By using law of cosines:

Qutab Minar.

 $a^2 = b^2 + c^2 - 2bc \cos 52^\circ$ $a^{2} = (25)^{2} + (37)^{2} - 2(25)(37)\cos 65^{\circ}$ $a^2 = 625 + 1369 - 781.84$ $a^2 = 1212.16$ $\sqrt{a^2} = \sqrt{1212.16} \Rightarrow a = 34.82$ Find 'a' so that 23. $|\alpha i + (\alpha + 1)j + 2k| = 3$ Sol. $\hat{\alpha}\hat{i} + (\alpha + 1)\hat{j} + 2\hat{k} = 3$ $\sqrt{(\alpha)^2 + (\alpha + 1)^2 + (2)^2} = 3$ $\sqrt{\alpha^2 + \alpha^2 + 2\alpha + 1 + 4} = 3$ To Learn $\sqrt{2\alpha^2 + 2\alpha + 5} = 3$ Squaring both sides, we get: $2\alpha^2 + 2\alpha + 5 = 9$ $2\alpha^2 + 2\alpha + 5 - 9 = 0$ $2\alpha^2 + 2\alpha - 4 = 0$ $2\alpha^2 + 4\alpha - 2\alpha - 4 = 0$ {By Factorization} $2\alpha(\alpha+2)-2(\alpha+2)=0$ $(\alpha+2)(2\alpha-2)=0$ Either OR $\alpha + 2 = 0$ $2\alpha - 2 = 0$ $2\alpha = 2 \Rightarrow \alpha = 1$ $\alpha = -2$ 24. Define Vector product. Sol. The vector product of two vectors $\vec{a} \otimes \vec{b}$ is denoted by $\vec{a} \times \vec{b}$ and is defined as $\vec{a} \times \vec{b} = |\vec{a}| |\vec{b}| \sin \theta \hat{n}$. 25. Under what condition does the relation $\vec{a} \cdot \vec{b} = |\vec{a}| |\vec{b}|$ hold for two vectors a & b.

Sol. As
$$\vec{a} \cdot \vec{b} = |\vec{a}| |\vec{b}|$$

EDUGATE Up to Date Solved Papers 35 Applied Mathematics-I (MATH-123) Paper A $\Rightarrow |\vec{\mathbf{a}}| |\vec{\mathbf{b}}| \cos \theta = |\vec{\mathbf{a}}| |\vec{\mathbf{b}}| \therefore \begin{cases} \text{By Definition} \\ \vec{\mathbf{a}} & \vec{\mathbf{b}} = \vec{\mathbf{b}} |\vec{\mathbf{b}}| \\ \vec{\mathbf{b}} & \vec{\mathbf{b}} \end{cases} \end{cases}$ See Q.3(i) of Ex # 2.2 (Page # 103) Sol. $\Rightarrow \cos \theta = \frac{|\vec{a}| |\vec{b}|}{|\vec{a}| |\vec{b}|} \Rightarrow \cos \theta = 1$ (a) If sin $\theta = \frac{2}{2}$, and the terminal Q.4. side of the angle lies in the second $\Rightarrow \theta = \cos^{-1}(1) \Rightarrow \theta = 0^{\circ}$ quadrant, find the remaining Express $\sqrt{2} \angle 45^{\circ}$ in Rectangular 26. trigonometric ratios of θ . form i.e., a + ib See Q.3 of Ex # 3.2 (Page # 122) Sol. $\sqrt{2} \angle 45^\circ = \sqrt{2} (\cos 45^\circ + j \sin 45^\circ)$ Sol. (b) Prove that $=\sqrt{2}\left(\frac{1}{\sqrt{2}}+j\frac{1}{\sqrt{2}}\right)=\sqrt{2}\left(\frac{1+j}{\sqrt{2}}\right)=\boxed{1+j}$ $\frac{1+\tan^2\theta}{1+\cos^2\theta} = \frac{(1-\tan\theta)^2}{(1-\cot\theta)^2}$ 27. Find the product of See Q.14 of Ex # 3.3 (Page # 136) Sol. $Z_1 = 2 \angle 15^{\circ}, Z_2 = -1 \angle 30^{\circ}$ $=(2)(-1)\angle(15^{\circ}+30^{\circ})=-2\angle 45^{\circ}$ Sol. (a) Prove that $\sin^4\theta = \frac{3}{8} - \frac{1}{2}\cos 2\theta + \frac{1}{8}\cos 4\theta$ Section - II See Q.19 of Ex # 4.2 (Page # 179) Sol. **Note :** Attemp any three (3) questions $3 \times 8 = 24$ (b) A television antenna is on the roof of Q.2.(a) Solve the equation a building. From a point on the $x^{2} + (m - n) x - 2 (m - n)^{2} = 0$ ground 36m from the building, the angle of elevation of the top and the by using quadratic formula. bottom of the antenna are 51° and See Q.3(v) of Ex # 1.1 (Page # 22) Sol. 42° respectively. How tall is the

- (b) The roots of the equation $px^2 + qx + q = 0$ are α and β Prove that $\sqrt{\frac{\alpha}{\beta}} + \sqrt{\frac{\beta}{\alpha}} + \sqrt{\frac{q}{p}} = 0$
- See Q.6 of Ex # 1.3 (Page # 46) Sol.
- **Q.3.(a)** Find the term involving q^8 in the expansion of $\left(\frac{\mathbf{p}^2}{2} + 6\mathbf{q}^2\right)^{12}$
- See Q.7(v) of Ex # 2.1 (Page # 90) Sol.
- (b) Find the coefficient of x⁵ in the

expansion of
$$\frac{(1+x)^2}{(1-x)^2}$$

- antenna?
- See Q.11 of Ex # 5.2 (Page # 218) Sol.
- Q.6.(a) Using cross product, find the area of triangle whose vertices are (0, 0, 0), (1, 1, 1), (0, 0, 3).
- See Q.21(i) of Ex # 6.2 (Page # 266) Sol.
- Simplify $(\sqrt{3} + j)^7$ and express the (b) result in a + jb form.
- Sol. See Example Q.9(a) of Ch # 07*****